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Developer Agreement

Create an application e e s

This Twitter Developer Agreement (*Agreement’ ¥ an individual or an entty, in as *you") and

Twitter, Inc., on benalf of , “Twitter”) and govems your access to and use of the Licensed
Material (as defined below).

Application Details PLEASE READ THE TERMS AND CONDITIONS OF THIS AGREEMENT CAREFULLY, INCLUDING WITHOUT LIMITATION ANY LINKED
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Websits * Yes, | agree

e page, . 10 clowrioad, maks uss of, o find Ut mars informat iec URL is usein the Create your Twitter application

ber t0.change i ltec)

s cor't have 8 UL yot just put s plsahider s Lt e

Caliback URL.

[ p—" specly hai cauth_catiock URL on the

o st ke step, rgarciess of the e
Ievs. T rstrct your appcation o using Catacks, feevs ihis fiekd birk.

About Terms Privacy Cookies ©2015 Twitter, Inc.



® EREH AE 44
« https://apps.twitter.com

5) Process

-lmlm x| i Google et

e - C——

=
x| [122¢ - Google A8

6) Process

InGoog) g - dang | Kiceapn | @Ay, | QRtace | Grewns | Quusan | introc \
« C  §) hitps:/apps.twitter.com/app/7957197/keys s

= C [ htips://apps.twitter.com/app/7957197/keys = =
Fa oMo o O RSIYSUG. BotsAREDR o vie a1 v x Fa oMol Eoi O RSolYeuck wehaatple o vl B v x

W Application Management . b Regenerate Consumer Key and Secret  Change App Permissions

.
Simon.Mun Test OAuth Your Access Token
Details. Settings Keys and Access Tokens Permissions This a token can be used to make A quest: yo W Dy ur a
‘Access Token

Application Settings Aceess Token Secret

X e “Conaums 7 man-readab i apg n Access Level o=

Consumer Key (API Key) B ] Ovmer )

Consumer Secret (AP| Secret) ‘Owmer ID enmisaznan

Access Level e —

Owner B

P Token Actions

Application Actions

Regenerate Consumer Key and Secret  Change App Permissions

Your Access Token

Regenerate My Access Token and Token Secret  Revoke Token Acoess

About Torms Privacy Cookies ©2015 Twitter, Inc.

Mtips:/apps twitter conVapp/T9ST197/koys.



2tolEe{2| 2X]

library(bitops)

library(RCurl)

library(RISONIO)

library(twitteR)

library(ROAuth)

library(RColorBrewer)

library(devtools)

install_github("twitteR", username="geoffjentry")
Downloading github repo geoffjentry/twitteR@master
Installing twitteR

'/Library/Frameworks/R. framework/Resources/bin/R' --vanilla CMD INSTALL \

VRSN

'/private/var/folders/28/g8cf_pvx46s5phqgwr6qq7 jwddddgn/T/Rtmp8qGMiY/devtoolscb924cc3a7ae/geoffj
entry-twitteR-563a23c' \
-=library="'/Library/Frameworks/R.framework/Versions/3.1/Resources/library' \
--install-tests

* installing *source* package ‘twitteR’ ...
!lR

e inst

** preparing package for lazy loading
Creating a generic function for ‘as.data.frame’ from package ‘base’ in package ‘twitteR’
** help

*** installing help indices

** building package indices

** testing if installed package can be loaded
* DONE (twitteR)

Reloading installed twitteR

Attaching package: ‘twitteR’

The following object is masked from ‘package:plyr’:
id

The following objects are masked from ‘package:dplyr’:
id, location

ZOfAIX| 2
Username parameter is deprecated. Please use geoffjentry/twitteR

GitHubOf| A twitteRI} 7| X| Q| X[AMH M S CIREE
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> api_key <- "R

>

> api_secret <- " AR

>

> access_token <- "SR

>

> access_token_secret <- "SI
>
>

setup_twitter_oauth(api_key,api_secret,access_token,access_token_secret)
[1] "Using direct authentication"

» https://apps.twittercomQj|A] 2101 =
(@)

XN|=t8E2 api_key, api_secret,
= ke)
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GreeceOf 2tEEl HAE 100074 2 EE

> Greece.tweets = searchTwitter("Greece" , n = 1000)
GreeceOf Zt&H &l HAED 2=

> library(plyr)
>
> Greece.text = laply(Greece.tweets,function(t)t$getText())

= At 22 A2 Het

> Greece.text <- tolower(Greece.text)
>

RtE 252 = HFI|(A )

LI

> Greece.text <- gsub("rt", , Greece.text)

>

SHOIZ AH (@]|w+)

mn

> Greece.text <- gsub("@\\w+", , Greece.text)

>
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> Greece.text <- gsub("[[:punct:]1]", "", Greece.text)
>

- 23 HA
> Greece.text <- gsub("http\\w+", "", Greece.text)
-

- B XA
> Greece.text <- gsub("[ INt]{2,}", "", Greece.text)
>

« ANE EE2 =X HA

> Greece.text <- gsub("A ", "", Greece.text)
>

« £ Fx2 =Xt HA

> Greece.text <- gsub(" %", "", Greece.text)



« Corpusi’d
>
> Greece.text.corpus <- Corpus(VectorSource(Greece.text))

« Tm_map= &850 Stop words AHX||

> Greece.text.corpus <- tm_map(Greece.text.corpus, function(x)removeWords(x,stopwords()))

« TermDocumentMatrixE 22380 =X|d HO|E = s H3l

> myTdm <- TermDocumentMatrix(Greece.text.corpus, control = list(wordLengths = c(2, Inf)))
>



- 10%H Ol =

ro

—t
ot

AL LEEFLY 7|

> findFreqTerms(myTdm, lowfreq = 1@)

[1] "1greek" "2015" "230815" "24" "akan"
[6] "allowed" "anda" "atau" "athens" "bailout"
[11] "bid" "border" "chicago" "conservative" "copyright"
[16] "coreoo" "crisis" "cross" "dan" "direction"
[21] "ditangan" "form" "gives" "government"  "greece"
[26] "greek" "gt" "holidays" "Jjust" "kekalkan"
[31] "last" "lesvos" "like" "macedonia” "macedonias"
[36] "malaysia" "migrants" "mtvhottest” "najib" "nasib"
[41] "new" "night" "now" "npr" "nyc"
[46] "one" "opposition"  "otrachicago" "pay" "refugees"
[51] "refugeesgr" "ringgit" "sama" "seaside" "see"
[56] "segalanya" "selamatkan"  "sepei" "stage" "syrian"
[61] "tsipras" "undur™ "update” "visit"
« Bailoutd} 2=l HA} X7
> findAssocs(myTdm, "bailout", 0.25)
$bailout
poll dutch weakens allnight backs deal
0.73 0.61 0.61 0.59 0.59 0.59
debate shows suppo wilnews truegreece costs
0.59 @.56 0.56 0.55 0.48 0.39
seats three vvd 240815120213 coalition grip
0.39 0.39 0.37 Q.27 0.27 0.27
maintain oligarchs paid pnews yanis
0.27 Q.27 Q.27 Q.27 0.27
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library(ggplot2)
termFrequency <- rowSums(as.matrix(myTdm))
termFrequency <- subset(termFrequency, termFrequency >= 10)

termFrequency <- as.data.frame(termFrequency)

X

Y

row.names(termFrequency)

termFrequency$termFrequency

At
o

ct
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> gplot(x=X,y=Y, geom="bar", stat="identity", xlab="Nouns relevant Greece", ylab="Freq", main

element_text(angle=90, hjust=1, vjust=0)

"Text about Greece Bar chart")+ theme(axis.text.x =

)

Text about Greece Bar chart
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I EEE
> library(wordcloud)

B EER-EE
> m <- as.matrix(myTdm)

- Bz Zf i
> wordFreq <- sort(rowSums(m), decreasing = TRUE)

. TRE M

> pal <- brewer.pal(8, "Dark2™")
>
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> wordcloud(words = names(wordFreq), freq = wordFreq, min.freq = 10, random.order = F, rot.pe

r=0.1, colors = pal)

tsipras
segalanya .
undur 4 cotion migrants

PaY" nyc + chicago .
refugeesgr "-_rg anda ag malaysia
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lesvos
selamatkan

atau OppOSition ¢ borderdan S pnar
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sama 2015 cross Visit y
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Text Analysis utilizing twitter
- Clustering Analysis
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removeSparseTermsE &-83}0] Corpus2to| 04} K| A

> myTdm2 <- removeSparseTerms(myTdm, sparse = @.95)
>

i

ot
rtot

HZ

o2t

> m2 <- as.matrix(myTdm2)
>

QE2/Cie e My

> distMatrix <- dist(scale(m2),method="euclidean")
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> single <- hclust(distMatrix, method = "single")

>
> rect.hclust(single, k = 10)

> plot(single)

>
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complete <- hclust(distMatrix, method = "complete")

plot(complete)

rect.hclust(complete, k = 10)
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Regression Analysis with R
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Source(29l) | Df(RIRE) | SS(H&EEH) | Ms(BoH&) | F

Reg(2 ) K-1 SSR MSR=22 po LIS
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95753 9|

S|
=3

AL
EEi'T_

Weight = &5 7|9
BMI = M E2& Xl+(——

> getwd()
[1] "/Users/Seongmin_M/Down
>

VvV V.V V YV

head (NHANES)
X Weight BMI
1 82.7 29.4

Syl AWM

str(NHANES)
data.frame':
$ X
$ Weight: num 82.7 85.6 7
$ BMI

=V Voups WN =

=72 H2E X0 tiore 7=

CH ot

Weight
Height?

= HlolH

=X Hl0[H(kg)
)

loads"

1.59
3.13

:num 29.4 29.6 Z23.

setwd("/Users/Seongmin_M/Downloads™)

NHANES<-read.csv("NHANES_1.csv",head=T)

9575 obs. of 3 variables:
:int 12345678910 ...

3.8 8.6 68.3 67.7 8.5 61.7 85 ...
® 29.7 21.9 26.3 31.9 20.9 26.7 ...
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> getwd(Q)
[1] "/Users/Seongmin_M/Downloads"
>

> setwd("/Users/Seongmin_M/Downloads™)
>
> NHANES<-read.csv("NHANES_1.csv",head=T)
>
> head(NHANES)
X Weight BMI
11 82.7 29.4
22 85.629.6
33 71.523.1
4 4 93.8 30.0
55 81.629.7
66 68.321.9
>
> str(NHANES)
'data.frame’': 9575 obs. of 3 variables:
$ X :int 12345678910 ...
$ Weight: num 82.7 85.6 71.5 93.8 81.6 68.3 67.7 86.5 61.7 85 ...
$ BMI : num 29.4 29.6 23.1 30 29.7 21.9 26.3 31.9 20.9 26.7 ...

* Head®t=2 stref+& A0S0} HO|H 2| HEIS =I5t

-

C}.

M
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> 1m.NHANES=1m(NHANES$BMI~NHANES$Weight)
>
> 1m.NHANES

Call:
Im(formula = NHANES$BMI ~ NHANES$Weight)

Coefficients:
(Intercept) NHANES$Weight
5.3798 0.2618

« 2|7{AlE BMI=5.3798+0.2618WeightO|L}.

® o|HEY HS

> anova(lm.NHANES)
Analysis of Variance Table

Response: NHANES$BMI

Df Sum Sq Mean Sq F value Pr(>F)
NHANES$Weight 1 48813 48813 13305 < 2.2e-16 ***
Residuals 3705 13593 4

Signif. codes: @ ‘***’ @9.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 < ’ 1

- p3to] 0.050[8} 0|22 3|HEYS ol siC}.
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> summary(1lm.NHANES)

Call:
Im(formula = NHANES$BMI ~ NHANES$Weight)

Residuals:
Min 1Q Median 3Q Max
-7.1021 -1.3043 -0.2928 1.2004 12.6110

Coefficients:

Estimate Std. Error t value Pr(Gltl)
(Intercept) 5.37983 0.17969 29.94 <2e-16 ***
NHANES$Weight ©0.26178 0.00227 115.35 <2e-16 ***

Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ¢ ’ 1

Residual standard error: 1.915 on 3705 degrees of freedom
(5868 observations deleted due to missingness)

Multiple R-squared: ©.7822, Adjusted R-squared: 0.7821

F-statistic: 1.33e+94 on 1 and 3705 DF, p-value: < 2.2e-16

+ Jgl SEHSO pl0] 25 0.050|510| 22 2| A += 72[SHTE.
- 232 7821%2] 23S AL UL,



o = <A}Ad :1{7<
> vcov(1m.NHANES)
(Intercept) NHANES$Weight
(Intercept) 0.0322871504 -4.015012e-04
NHANES$Weight -0.0004015012 5.150687e-06

NHANES plot

50

40

NHANES$BMI
30
|

- Sz AEOEN)0] 10 0[510|A1 ™=0| o {0 LK[SHK| 222 T}
s sdd2 Sl & = ULt



=~
° 2N U3

> install.packages("1lmtest")

URL '"http://cran.rstudio.com/bin/macosx/contrib/3.1/1mtest_0.9-33.tgz'& AI=EHLIC}

Content type 'application/x-gzip' length 266752 bytes (260 Kb)
URLE EA&LCH

downloaded 26@ Kb

The downloaded binary packages are in

/var/folders/28/g8cf_pvx46s5phqgwréqq? jwd@ddgn/T//RtmpXqG9Ju/downloaded_packages

> library(lmtest)
gest o7xig 2dseuct: zoo

Chgel W7|KIE RAEC: ‘zoo’
The following objects are masked from ‘package:base’:

as.Date, as.Date.numeric

CHee| 7 |KIE S&CH: ‘1mtest’
The following object is masked from ‘package:RCurl’:
reset

>
> dwtest(1m.NHANES)

Durbin-Watson test
data: 1m.NHANES

DW = 1.9466, p-value = 0.05209
alternative hypothesis: true autocorrelation is greater than @

Durbin-watsonZ}0| 1.94660|E 2 =
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> par(mfrow=c(2,2))
>
> plot(1m.NHANES)

@
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ok

> install.packages("car™)
URL '"http://cran.rstudio.com/bin/macosx/contrib/3.1/car_2.0-25.tgz'S Al=gi|Ct

Content type 'application/x-gzip' length 1386779 bytes (1.3 Mb)
URLE E&LICH

downloaded 1.3 Mb

The downloaded binary packages are in

/var/folders/28/g8cf_pvx4bs5phqgwroqq7 jwddddgn/T//RtmpzB2Xal/downloaded_packages
> library(car)

AOHAIX]

H7|X| ‘car’= R HA 3.1.300M ZHY=|UELICH

>

> outlier.test(1m.NHANES)
rstudent unadjusted p-value Bonferonni p
2599 6.629329 3.8603e-11 1.431e-07

+ 2599H0| O| &K S =l &+ A2 BT LIEFLY =10 QUL

-
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> NHANES[2599, ]
X Weight BMI

2599 2599 115.4 48.2

>

> 1m.NHANES$fitted[2599]
2599

35.58903

>

> 1m.NHANES$residuals[2599]
2599

12.61097

- O|AFX|9| BMIE= 48.20| 1 Weight+ 115.40|Ct.

+ 2[FAS ot BMIS ot 21 35.589030| Ltz AL 2 0o &R O
= A gk B2 XHO0|7h Lk

- 2599H10| ZhXHE 1261097 2 O =L}

+ JB{EE O|gX|E Wl ChA| =4 & 227t UL
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>
>
>

NHANES$Weight

par(mfrow=c(1,1))

pLot (NHANES$BMI ,NHANES$Weight, main="NHANES")

NHANES

150

100
|

50
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® HebinI7|X| 2 223} A|Zt3}

—

> install.packages("hebin™)
Warning in install.packages :
package ‘hebin’ is not available (for R version 3.1.2)

>
>
>
>

libraryChexbin)

hexbinplot(BMI ~ Weight, data=NHANES)
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> hexbinplot(BMI ~ Weight, data=NHANES, x1im=c(0,210))
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® H| A

> hexbinplot(BMI ~ Weight, xlim=c(@,210@), colorkey=F, data=NHANES)
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> hexbinplot(BMI ~ Weight, xlim=c(0,210), colorkey=F, data=NHANES, main="NHANES")
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> hexbinplot(BMI ~ Weight, x1im=c(@,21@), colorkey=F, xbins=10@, data=NHANES, main="

NHANES™)
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> hexbinplot(BMI ~ Weight, x1im=c(0,210), colorkey=F, xbins=100, data=NHANES, style

"lattice" ,main="NHANES™)

"nested.centroids" ,main="NHANES")

NHANES

1 1 | l

50 1

40

BMI

30 1

20 1

° i&jzr(3|

BMI

NHANES

1 1

hexbinplot(BMI ~ Weight, x1im=c(0,210), colorkey=F, xbins=100, data=NHANES,
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